512 - 31 - StatistiCS Mean NOteS |Parameters Pop ;N) or Statistics (Sample ; n—1b
x1+x2 +X3+"'+xn

| Data: 2,4,56,8 | Mean

U=
n: #of data” |"|Vlhew"| u

Median: Middle number
Range:Top# — Bottom# = 8 —

Mode: Most occurring number

x —ul(x =2

Datal x
1) | 2] -3 9
2) 4] -1 1
3) |5 0 0
4) 6 1 1
(5))]8 3 9
Sum |25 (20)
Jzoci -w? [[Z:sum
Op = -

20 .
»= |5 = Va4 :@ Population

(Parameters) g, =

5. = 2 —w? _|2Y
=T -1 %= |4

2+4+5+6+8 25 @

=+/5 —’ Sample

Lor x = mean | (Average)

All Numbers Added
Number of Numbers

Mean =

Data: 3@7 Median —i §=@
Mode =®

2 2

sum of the squares

of the dif ferences from the mean

number of values — 1 |Us = SI

n—

1

(2-5)2+4+(4-5)2+(5-5)2+(6—-5)2+(8-5)2

5-1

(=32 + (=D*+ (0> + (1> + 3)* | coincidence the

Noticeit's a

- j
o5 = \/(xl — )%+ (g —@)? + -+ (o — p)? |variance : 02

5-1

9+1+0+1+9
5—1 B

(Statistics)

simplicity in the
/ math.
Bigger to account for

mean and
median are the

Qz\/g same for
4 S

bias in a small sample

Ti-84 Calculator Instructions:  Mean/Stdev |T|-83: 1-Var Stats L1,L2*| Clear Data

[STAT|[EDIT] [ENTER] [STAT][CALC |[T-Var Stats J[ENTER] [DELfcell

Enter Data L1* List: L1* (Freq See Below)

|ENTER]| ENTER] [ ENTER*|

Yx = sum data
Yx? = sum data squared
sx = stdev population
ox = stdev sample
n = #of data”
minX = min data
Q, = 1st quartile 25% <
Med = median
Qs = 3rd quartile 75% <
maxX = maxdata

Clear Column 1
(Don't Press DEL) DOn t
[UP] [CLEART][ENTER][DOWN]
L1 L2 L3 ..

If you do

L#* (so as above)

Casio fx260

[Enter Data] [ Mode] [0][Mode] [£] Repeat last two buttons for all data [Shift ]

Frequency Distribution
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Datal x | freq £Gol x x £ ()| Frequency: L2* FreqList: L2* | Frequency - number of occurrences of data
D 12 1 2 X1+ X, +x34+ 0+ x 1
> T4 . T p=rTrTs n P (2) = o= 2xf(x)
Ol © IE 10 2+4+4+4+4+5+5+6+6+6+8 v
T |6 3 13 H= 11 W=7
5 [8] 1 | & | 44 Uedian = 5

Sum Ci1) Gy | "~ 11 >



S12 - 3.2 - Statistics Frequency MeanNotes

Frequency Distribution

Datal x | freqg £ x X £(x)||Frequency: L2* Freqlist: L2* | Frequency - number of occurrences of data
D 12 1 2 X1+ X, +x3 4+ +x 1
2) 141 4 16 | h="""—"0 no | P@ =3 A€
3) [5) 2 10 24+4+4+44+4+5+5+-6+6+6+8 v/
D |6 3 18 H= 11 W=7
5 8] L [ 8 ], _4 e

Sum Ciiy [ Gay | P~ W< >

sum of the squares of the dif ferences from the mean

number of values — 1

fOq =%+ fO — )2+ + fx, — W?
n—1

11-1

1(=3)2 + 4(=1)2 + 2(0)2 + 3(1)? + 1(3)?
11-1

. _j1(2—5)2+4(4—5)2+2(5—5)2+3(6—5)2+1(8—5)2
-]

1(9) +4(1)+20) +3(M) +1(9) 25
T _j%_\/iﬁ_ms
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